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47 1,246 108 1,013 95 14 27 1,027 92
5H 844 64 858 76 44 80 902 76
64 1,116 87 1,016 87 34 54 1,050 85
78 920 74 834 76 25 48 859 75
20234 8H 825 97 813 83 23 77 836 83
9H 865 88 952 81 44 69 996 80
10HR 848 81 814 89 13 31 827 87
118 882 80 858 81 20 53 878 80
12H8 935 85 830 83 22 59 852 82
18 799 74 794 91 13 25 807 88
20244F 2H 944 95 765 80 46 242 811 84
3H 918 85 1,050 95 15 75 1,065 94
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4K 376 83 340 91 0 - 340 91
5H 331 81 311 76 0 - 311 76
6H 422 108 320 85 0 - 320 85
78 380 102 248 70 0 - 248 70
20234F 8H 288 82 270 88 0 - 270 88
9H 348 101 288 49 0 - 288 49
10HR 191 51 254 60 0 - 254 60
118 104 28 287 78 0 - 287 78
128 124 42 209 66 0 - 209 66
1R 171 59 225 85 0 - 225 85
2024 4F 28 117 54 219 85 0 - 219 85
3H 156 52 278 83 0 - 278 83
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4K 1,127 79 1,219 88 0 - 1,219 88
5H 1,214 91 1,077 85 1 100 1,078 85
6H 1,372 88 1,203 90 0 - 1,203 90
78 1,193 78 1,060 75 0 - 1,060 75
20234 8AH 976 78 1,028 82 0 - 1,028 82
9H 1,156 77 1,156 83 1 - 1,157 83
10HR 1,225 84 1,149 79 0 0 1,149 79
11A 1,283 82 1,181 84 0 - 1,181 84
12AH 1,125 84 1,059 78 1 0 1,060 78
1A 1,071 90 1,008 87 0 - 1,008 87
2024 4F 28 1,020 88 1,029 92 1 - 1,030 92
38 1,063 79 1,118 89 0 - 1,118 89
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-3 RIERA L -3 RIER B n = RIERA L -3 RIERA L
4K 653 104 770 103 0 - 770 103
5H 706 106 700 94 0 - 700 94
6H 860 93 808 80 0 - 808 80
78 871 84 691 80 0 - 691 80
20234F 8H 657 98 711 90 0 - 711 90
9H 844 96 751 78 0 - 751 78
10H 625 77 640 82 0 - 640 82
118 573 90 715 89 0 - 715 89
128 491 73 578 82 0 - 578 82
18 483 80 491 102 0 - 491 102
2024 4F 2AH 464 67 487 100 0 - 487 100
3H 536 84 765 103 0 - 765 103




